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stem product

A=<ay, - ,aqry,--->:00000
B =<by, ,by|s,--->:00000
n:100000

DPis::° sPnsqis - sQ4n 100000
a: AOOO

B:BOOD

Definition 1.1

stemproduct 0000 O00O0OOOOOOODOOO

— $P1 491 __ 4P2 -1 _ —
<ag,:-- ’al,bla"' 7bm7t1"" 7tn|a—t1 7t1 —tz 9 7tg,,n_1 —tﬁn7t%n—ﬁ>




growth function

G:00000

A:GO0O0000O0O
l,(w):weGUOOOOOODOOOOOO
00000000

(G,A) 0000 growth function0 00000000 O0OOOOOO
ugod

Definition 1.2

F(G,A) = deG X' = ano #{gll(g) = n}X"




growth rate

G:00000
A:00000

a(n) =#{g € G|l(g) = n}

(G,A)D00D0000 w(G,A) O growth rate 0 0 O
Definition 1.3

w(G,A) = nlgr;o a(n)%

U:

-w(G,A) > 10000 exponetial growth 0 0O
+e,d>100000000n0000 a(n)<c-nd00000
(G, A) O polynomial growth 0 0 0O 00O

-+ fe,a(X)0DDO00O00 ROODDOw(G,A)=+0000(00000
O0oooooo)



O0O0O000OOOO growth function

Theorem 1.4

([1] Proposition1.4(b)) G=HxKOO OO GHKOOOO growth
function A(X),B(X),C(X)00000000000000000
A(X) = B(X)C(X)

Oooad
F(t) = ap+aittazt®+- - -+ant™,g(t) = bo+b1t+bot?+- - -+byt™
000 f(t)xg(t) 000000

_ F()g(t) _ F(D)a(t)
F@&) *9(t) = i=FEH-nEoH=-1) = FOTeO—-F D@

([1] Proposition1.5) G=H+xKUO O OO GH KO OOO growth
function A(X),B(X),C(X)00000000000000000
A(X) = B(X) *«C(X)




growth functionO O OO OO OO

growth function0 0000000000 DOOODOOOOO

Theorem 1.6 (Milnor,1968)

dooooooonooooooonooooooooooooon
(exponetial growth) 00 000000000000 OOOOOOOOO
O000000000O00000 (polynomial growth) O O O O

OO00000DOO0O00DO growthrateODOOOOOOOOODOO
googooboo



growth functionO O OO OO OO

growth function f(X) OO

00000 Z=<a>

f(X)=1+2X +2Xx%4+2x34... = 14X

00 n0000 Fp =< ag,+-+ ,an >
f(X)=1+2nX +2n(2n —1)X2 + .. _%
.00 n(n>2)00000000 (Cannon,1980)

F(X) = (1) (1—2?)

1—(4g—1)X +(4g—1)X29—X29F1
trefoil 0000 < z,y|z? = y3 >(M.shapiro,1994)
00000000000 <a,yleP =y? >00-00-00)

OO000O00DOCOO000O00DOObOO0OO0DOoOnO growth function
goooobogn
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30000000000 growth functionO O OO0
—00Seifet 000000000000 O00DODOO 100000000
stem product O growth function 0 0 0O O

G=<z,y,zlzP =22,y = 22,2 =id >
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0000000000 < z,y,z|xP = 22,y9 = 22,24 =id >000
Op,q>200000000000000000 growth functiond O
0o
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growth functionO O OO OO OO

00000 < x,y, z|zP = 22,99 = 22, 2% = id > O growth function
A,,(X)0DO0O0O0D00000 pq0000p000,q0000pq00
ooooooooooon
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growth function 0 O OO OO

00000 < x,y,z|2P = 22, y? = 22,24 = id > 0
growth function 0 Ap 4(X)

A,.(X)00D0000000000000000000 Cu(X)0O

Cu(X) = 1+2X +---4+2X"7  (n=2m+1)
" 1+2X +---4+2X"5 + X% (n=2m)
BP’Q(X)D
Bpg(X) = Cp*Cy

Cp(X) - Cy(X)
1 —(Cp(X) = 1)(Cy(X) — 1)

ogooog
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000 growth functionO O OO0 (p,q0O00)

00000 < x,y,z|zP = 22,y? = 22,24 = id >

p,qU0 000000 growth function O O [

Cp % Cq + 2X(Cp * Cg) + X?(Cp—2 * Cq_2)
+X{(Cp * Cq) — (Cp—2 % Cq_2)}
2(1 + X){(Cp * Cq) — 1} X(Cp x Cy)
1—{(Cp*Cy) —1}X
= Bpq+2XBpq+ X2Bp—2,q—2
2(1+ X)(Bp,g —1)XBpq
1-— (Bpsq - l)X

Bp,qu—2,q—2X2(X —1) + Bp2q-2X(1 - X?) + Bp,q(Bp,qXZ — BpqeX — X2 -—2X —1)
By, X —X -1

+X(Bp,q - Bp—Z,q—Z) +

v
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000 growth functionO0O0O0O0O (pO0O,q0O0)

00000 < x,y,z|zP = 22,y? = 22,24 = id >
pO000,q00O0OO0O0O growth function O O O

Ap,q(X)
= Cp*Cq+2X(Cp*Cy) +{(Cp* Cq) — (Cp-1%Cy)}
+X{(Cp-1%Cq) = (Cp—1 % Cq—2)} + X*(Cp—1 * Cq—2)
201 + X){(Cp * Cy) — 1}X(Cp * Cy)
1—{(Cp*xCy) —1}X
= 2B, (X +1)+Bp_1,4(X — 1)+ Bp_1,q2X(X —1)
2(1 + X)(Bp,g —1)XBpq
1— (Bpq—1)X

= ququfl,tr'A’Xz(X — 1)+ Bpo1,g2X(1 = X?) + BpaBp-1,4X(X —1) + Bp-1,4(1 = X?) — 2Bp,q(1 + X)
By X -X -1

v
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000 growth functionO O OO0 (p,q0O00)

00000 < x,y,2z|xzP = 22,y? = 22,24 = id >
p,q0 00 0O0O0OO growth function O 0O O

AP,Q(X)

= CpxCq+2X(Cp*Cq) +{(CpxCq) — (Cp—1*Cq-1)}
2(1 + X){(Cp x Cq) — 1} X(Cp x Cy)
1—{(Cp*Cy) —1}X
2(1 + X)(Bp,q - 1)XBP¢1
1— (Bpgq—1)X

— (X+1)(prqu—l,q—lxz_Bp—l,q—1X2_BPanp—l,q—1X+Bp—1,q—1_ZBP,q)
BpX—-X—-1

—|—X2(C 1 * Cq_l) -+

= Bp,q + ZXBWI + (Bp,q - Bp—l,q—l) + Xz(Bp—qu—l) +

18 /34



growth rate 0 [ [

OO00000D00O000000 growth function O growth rate d Perron
number 0 0 0O O

Definition 3.1 (Perron number)

Perron number 000000000000 OODODOO
10000000

0000

-J0000obOOo0nooooo

Example 1 (p=4,9=3)

growth function :(2X+1)(Séjctzg(i;}lgf;;zsf;tgp+X+1)
growth rate w : w = 559, =3.40-.- - 10000000
wHODOOOO00w? —w?2—-—Tw—4a4=00 —00000
O@x3+7x24+x—-1)=000 :Xx=0.29.--,-058---,—1.46---
—00doooooooooon
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growth function0 OO0 O0OO0OOO0O0OO
00000 < x,y,z|xzP =22,y = 22,24 =id >00000000
0100000000000 (canonical form)O0 0000
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0000 1~40000000000
00100000 < x,y, z|xP = 22,y? = 22,2% = id >)

x0O000O —f1(p) ~ f2(p)Dy0000 —f1(q) ~ f2(q)0
;0000 —1~20000

oood .fl(p)a f2(p)7 fl(Q)v .f2(Q) O

p—1 (p=2m+1) {p—l (p=2m+1)

O000mO000 fi(g) 0 fi(p)O f2(q) 0 f2(p) 00O 0O)

1y_1zyz2zcz22)

Example 2 (p=4,q=3, 0 00 xbyz"3y*2"3x52~

x0oooO -1~2y0000 -1~1000

ar;4ac2yz_3y4z_3a:5z_1y_1zyz2a:z22 —>z2m2y2_3z2yz_

z000O0O -1 ~2000

zzmzyz—1yz—1mz_1y—1zyz2:1:z

3.2 -1 22

z°xrz y‘lzyzza:z

20,2 1 1 2

ze— zzmzyz—lyz— Tz y—lzyzzar:z
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goooooon 2

00200000 < x,y, z|xP = 22,y? = 22,2% = id >)

00000 < z,y,2|zP = 22,29 = 22,24 =id >000000 Z
(271~ 22) 0 U (2= 1@ ~ g2(0) y=F1(D) ~ y=F2(@)O 00O

(1) UZeZ (U 2)* U

Example 3 (p=4,9=3, 0 00 22z%yz"'yz~lzz "ty lzyz2x2?)

22x2yz"Yyz ez ly l2y22222 s ZUZUZU ZU ZU ZU Z
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goooooon 3

00300000 < x,y,z|xzP = 22,y? = 22,2* = id >)

Z0 220000000000000000000000002~'000
000000000000 zOOOODODOOOOOOOOODOOO 271
00000z000O0OODOOODODDOODOO-:"'0000000000 100
0000-"'000000000000 Z00O0O0OOD zO0O0O00OO

1

y lzyz?x2?)

Example 4 (p=4,9=3,00 0 2%2z%yz"lyz"lzz~
2200000000

1 1 2 2 24 7 1 1,—1

22x?yz"lyz lez Ty lzy22e2? 52222 222y lyz T ez Ty T L2y
000000 2700000 zO0O0O

2822y2% 2ty ez iy Ty — 2822yzyzaz Ty lzyx

2710000 Z000000 00000

6.2 2 =1l =1l

zPxiyzyzxzz" Y 11

2z %zyx — 2822yzyzrzy Tz lyx
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00400000 < x,y, zlxP = 22,y? = 22,2* = id >)

Z00000000000000 24=4d0000271,2%=14d,z,22
000000000000000000Z020000000220
2,27100000000000022000 (2,2-'000000000
027'020020000000000000z0 2~'000)

1

Example 5 (p=4,q=3,0 00 2%z?yzyzxzy~

000 280 22000

2422xyzyzezy 127 lyx —2%xyzyzezy 27y

22000

2222x2%yzyzrzy 1222 lyr — x22yzyzaezy lzyx

z"lyx)
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00000 (canonical foom) D0 0005

ubbooobooboboobobooboobbuooboobobodoboo
gboobooboogbog

00500000 < x,y, z|zP = 22,y? = 22, 2% = id >)

Z0 1000000000 220000U000000000000000
O00z2000
(1) pg0 00000

UODOOOO0O0O 2% ,yt% 0 2F% +1,4F 5 +lg0oo

(2)p000,q000000
() UODDDODDOD0O00O0 «z*3 00272000

()uooOo z* 00000000000 D00D0D yE%s O
yF 000

(3)pq000OOO
uooooooooo %5,y 0 2F%,yF2 000
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ooooboodggs

ud b

0D00000000000000Z01000000000 22(= 272)
D000UDODD0O00000DOD0ODO0002%2(=2"2)000

(2)p000,q000000
p p
() UDOOOO0O000O0 =2 00275000

() UDOD 3 00000000000000000 vyt O
yFTooo

Example 6 (p=4,q=3,0 0 0 2z%z%y, 00 5(2)(i))

220z~ 20000022000

z2z2z_2a:2y —>m_2y
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U0 1~500000000000000000

[ URe Z(UZ)IU }

=10 : i>0
Zil} Z = z2 J_“CU)ZVJ IX:;,%‘.,(/)Z(D];
=z

s T s
P ams
PrantEr ‘ (oA, sz%z) ’ PaniEs
5* [ 7* [ 8% 10*

Uiz ULx Ehs [:
l{l_ 1 xipTi1 yi%l Ul +E7ﬁ' BELY. +§ ytq% "U(:q PU‘:q
4p-1 a1 . “xtint " . FT T IR FEIN TN
x 2z z NEFh 4a-1 AEEH xTz, yTapt x*z, ytah
nNEEnD bl aFFND yrz A il 5N EERAL
£N = £N
SEh3

*5,7,8, 10 DIZHER (I RIEIZAERZ TlIAEL V=& growth functionZ3R O SBRIZIRBISOE RN BLELLD

00000 < x,y, z|zP = 22,y? = 22, 2% = id > O growth function
pq00000001~600000 growth functiond OO
p000,q00000001~47~900000 growth functionO OO
p,q00000001~4,10,1100000 growth functiond OO
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owth function

000 ZUDO growth function 0 000000 Z=id, 222000000
000000000000 growth function0 000000000

[ U2 Z(UZ)IU }
I 1]
ZU - ZU
Z — Z J_CUDZVJ‘ t
Z=z

;,f"az/)zmzf
Z=

ph‘ﬁiﬂl,qb‘ﬁr%& ’
(pHBFE, qhYMBER)
8% } > 9 1 10*
U[:xiE{J“ Uiz
BEENT. xig yt? pU(:q pU“
q-1 NP xtz, yE xtz, ytaps
yET A ﬁ‘if’“ 5N EFERGL
SFhd =

*5,7,8, 10 DIZHER (I RIEIZAERZ TlIAEL V=& . growth functionZ 3RO SBRIZIRBISOE RN LELLGD

29 /34



000 ZU (Z=id)

obobobob0 1~00000000000

zZ U
L4
{id} {id, =11 (P) ~ £F2(P)} & {id, y~ 1 (D ~ yF2(D)}
{}boozyuooooooo
f1(p), f2(p), f1(a), f2(q) O

b (p=2m+1) P (p=2m+1)
_J 2 = 2

0000MO000 f1(g) 0 fi(p)0 f2(q) O f2(p) 00 DO)

OO0OO0OOgrowth functionODOOOOOOOOOODOO

Cp * Cq
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Qoo
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p,q0 000000 growth function O O O

Bp,qu72,q72X2(X — 1) + Bp72,qf2X(1 — Xz) + Bp,q(Bp,qXZ — Bp,gX — X?—2X — 1)

BpoX — X —1

v

pO000,q00O00OO0O0O growth function O O O

Bp,qBP—Lq—ZXZ(X =14 Bp—l,q—2X(1 - Xz) + BP:GBP—LGX(X -1)+B —l,q(l - Xz) — 2Bqu(1 + X)
BpgX — X -1

p,q0 000000 growth function O 0O O

(X+1)(Bp,gBp—1,g—1X>~Bp—1,9—1X*~Bp,qBp—1,¢-1X+Bp_1,¢-1=2Bp,q)
By X—X—1
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